Unit Test Report
for NPS System

« Test Cases Specification

» Test Summary Report

Project Team
Class A Team3

Latest update on:
2015-11-17

Team Information
201411258
201411265
201411315
201411321
201411256

oy
=
Mo Jo AN

oy oot oX oM
40 4o do0 Xx

re

OO0 Team

Ver. Identifier



Ver. Identifier

Table of Contents

T INEFOAUCTION ottt bbb e bbb 3
T.T OB OCTIVES oottt e s b8R8 R8RSR 3
T2 REFEIENCES ettt e8RS 3
2 Unit test Case SPECITICATION ...ttt sttt 3
2.1 Test case SPeCifiCatiON IAENTIfIE ..ot sss st sttt sss st 3
2.2 TEST IEEIMNS oottt esss st s s 88 e 3
2.3 INPUL SPECITICATIONS oottt ettt et ebs st 28
2.4 OULPUL SPECITICALIONS .ovvvveeieiti ettt ssssss sttt sttt 28
3 ENVIFONMENTAI NMEEAS c.ooieeeeee ettt ebs st bbbttt 28
4 UNIt @St SUMMATY FEPOI oottt sttt st sssss s st sttt st bbb s bbbt ssst e 29
47 Test sUMMArY rEPOIt IAENTITION ... ettt se sttt 29
A2 EVAIUGTION oottt et s s e 31

[EIAE o) 000 Team 2



Ver. Identifier

Introduction

1.1 Objectives
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1.2  References
T3 2015 _SRA_ 4.0
T3_2015_SDS 2.0

T3_2015_UTP_2.0

Unit test case specification

2.1  Test case specification identifier

Identifier Feature Valid / Invalid Value;

T3_NPS_11_000 1.1 Input Interface ID = user, data = sing.txt,

mode_input = p

T3_NPS_11_001 1.1 Input Interface ID = user, data = 1000
mode_input = i
T3_NPS_11_002 1.1 Input Interface ID = user, data = 100,

mode_input = a

T3_NPS_11_003 1.1 Input Interface ID = user, data = user2,

mode_input = j

T3_NPS_11_004 1.1 Input Interface ID = user, data = user2,

mode_input = d

1=

>
[m
e
U

OO0 Team 3




1=

Ver. Identifier

T3_NPS_11_005 1.1 Input Interface ID = admin, data = sing.txt,
mode_input = p
T3_NPS_11_006 1.1 Input Interface ID = admin, data = 1000,
mode_input = i
T3_NPS_11_007 1.1 Input Interface ID = admin, data = 100,
mode_input = a
T3_NPS_11_008 1.1 Input Interface ID = admin, data = user2,
mode_input = j
T3_NPS_11_009 1.1 Input Interface ID = admin, data = user2,

mode_input = d

T3_NPS_11_010

1.1 Input Interface

ID = NULL, data = sing.txt,

mode_input = p

T3_NPS_12_000

1.2 Input Converter

ID = user, command = p, data

sing.txt

T3_NPS_12_001

1.2 Input Converter

ID = user, command = s, data

sing.txt

T3_NPS_12_002

1.2 Input Converter

ID = user, command = a, data

100

T3_NPS_12_003

1.2 Input Converter

ID = user, command = i, data

1000

T3_NPS_12_004

1.2 Input Converter

ID = user, command = j, data

user2

T3_NPS_12_005

1.2 Input Converter

ID = user, command = d, data

user?2

T3_NPS_12_006

1.2 Input Converter

ID = user, command = h, data
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userlist.txt

T3_NPS_12_007 1.2 Input Converter ID = admin, command = p, data
= sing.txt

T3_NPS_12_008 1.2 Input Converter ID = admin, command = s, data
= sing.txt

T3_NPS_12_009 1.2 Input Converter ID = admin, command = a, data
=100

T3_NPS_12_010 1.2 Input Converter ID = admin, command = i, data
= 1000

T3_NPS_12_011 1.2 Input Converter ID = admin, command = j, data
= user2

T3_NPS_12_012 1.2 Input Converter ID = admin, command = d, data
= user2

T3_NPS_12_013 1.2 Input Converter ID = admin, command = h, data
= userlist.txt

T3_NPS_12_014

1.2 Input Converter

ID = NULL, command = p, data

= sing.txt

T3_NPS_211_000

2.1.1 System Controller

c_ID = user, command = 1, data

= sing.txt

T3_NPS_211_001

2.1.1 System Controller

c_ID = user, command = 2, data

= sing.txt

T3_NPS_211_002

2.1.1 System Controller

c_ID = user, command = 3, data

= 1000

T3_NPS_211_003

2.1.1 System Controller

c_ID = user, command = 4, data

= 100
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T3_NPS_211_004

2.1.1 System Controller

c_ID = user, command = 5, data

= user2

T3_NPS_211_005

2.1.1 System Controller

c_ID = user, command = 6, data

= user2

T3_NPS_211_006

2.1.1 System Controller

c_ID = user, command = 7, data

= userlist.txt

T3_NPS_211_007

2.1.1 System Controller

c_ID = admin, command = 1,

data = sing.txt
T3_NPS_211_008 2.1.1 System Controller c_ID = admin, command = 2,
data = sing.txt
T3_NPS_211_009 2.1.1 System Controller c_ID = admin, command = 3,
data = 1000
T3_NPS_211_010 2.1.1 System Controller c_ID = admin, command = 4,
data = 100
T3_NPS_211_011 2.1.1 System Controller c_ID = admin, command = 5,
data = user2
T3_NPS_211_012 2.1.1 System Controller c_ID = admin, command = 6,
data = user2
T3_NPS_211_013 2.1.1 System Controller c_ID = admin, command = 7,
data = userlist.txt

T3_NPS_211_014

2.1.1 System Controller

c_ID = NULL, command = 1, data

= sing.txt

T3_NPS_2121_000

2.1.2.1 Print Calculator

¢ (c_ID = user, file = sing.txt,

command = 0)

p (Pl =1000, PP =10, VF =1)
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T3_NPS_2121_001

2.1.2.1 Print Calculator

¢ (c_ID = user, file = sing.txt,

command = 1)

p (Pl =1000, PP =10, VF =0)

T3_NPS_2121_002

2.1.2.1 Print Calculator

¢ (c_ID = user, file = sing.txt,

command = 1)

p (Pl =1000, PP =10, VF = 1)

T3_NPS_2121_003

2.1.2.1 Print Calculator

¢ (c_ID = admin, file = sing.txt,

command = 1)

p (Pl =1000, PP =10, VF=0)

T3_NPS_2121_004

2.1.2.1 Print Calculator

¢ (c_ID = admin, file = sing.txt,

command = 1)

p (Pl =1000, PP =10, VF = 1)

T3_NPS_2122_000

2.1.2.2 Print Controller

command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2122_001

2.1.2.2 Print Controller

command = 2

PT ( ID = admin, file = sing.txt,
calculated_ink = 300,

calculated_paper = 30,
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verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2123_000

2.1.2.3 Print

command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2123_001

2.1.2.3 Print

command = 1

PT (ID = admin, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)
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T3_NPS_2124_000

2.1.2.4 Stop

command = 2

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 1,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2124_001

2.1.2.4 Stop

command = 2

PT ( ID = admin, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 1,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_000

2.1.2.6 Error

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper

= 100, temp_ink = 3000,
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temp_paper = 100, wait_num =

0)

T3_NPS_2126_001 2.1.2.6 Error Command =1
PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,
verified_file = 1)
PS ( print_current_state = 1,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =
5)

T3_NPS_2126_002 2.1.2.6 Error Command = 1
PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,
verified_file = 0)
PS ( print_current_state = 2,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =
5)

T3_NPS_2126_003 2.1.2.6 Error Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 0

PS ( print_current_state = 0,

current_ink = 3000, current_paper
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= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_004

2.1.2.6 Error

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 200, current_paper
= 100, temp_ink = 200,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_005

2.1.2.6 Error

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 10, temp_ink = 3000,

temp_paper = 10, wait_num = 0)

T3_NPS_2126_006

2.1.2.6 Error

Command = 2

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 2,

current_ink = 3000, current_paper
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= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_007 2.1.2.6 Error command = 3
RT (100)
PS ( print_current_state = 1,
current_ink = 3000, current_paper
= 0, temp_ink = 3000,
temp_paper = 0, wait_num = 0)

T3_NPS_2126_008 2.1.2.6 Error command = 3
RT (100)
PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =
0)

T3_NPS_2126_009 2.1.2.6 Error command = 4
RT (13000 )
PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =
0)

T3_NPS_2126_010 2.1.2.6 Error command = 5

UT (ID = admin, El =0 )

PS ( print_current_state = 1,
current_ink = 3000, current_paper

= 100, temp_ink = 3000,
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temp_paper = 100, wait_num =

0)

T3_NPS_2126_011

2.1.2.6 Error

command = 5
UT (ID = admin, El = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_012

2.1.2.6 Error

command = 6
UT (ID = admin2, El =0)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2131_000

2.1.3.1 Admin Calculator

¢ (c_ID = user, file = sing.txt, ID
= NULL, command = 3, r_ink =

100, r_paper = 1000)

T3_NPS_2131_001

2.1.3.1 Admin Calculator

¢ (c_ID = user, file = sing.txt, ID
= NULL, command = 4, r_ink =
100, r_paper = 1000)

T3_NPS_2131_002

2.1.3.1 Admin Calculator

¢ (c_ID = admin, file = sing.txt,
ID = NULL, command = 3, r_ink
= 100, r_paper = 1000)

T3_NPS_2131_003

2.1.3.1 Admin Calculator

¢ (c_ID = admin, file = sing.txt,

ID = NULL, command = 4, r_ink
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= 100, r_paper = 1000)

T3_NPS_2132_000

2.1.3.2 Refill Controller

Command = 3, amount = 100

T3_NPS_2132_001

2.1.3.2 Refill Controller

Command = 3, amount

101

T3_NPS_2132_002

2.1.3.2 Refill Controller

Command = 4, amount

1000

T3_NPS_2132_003

2.1.3.2 Refill Controller

Command = 4, amount

1001

T3_NPS_2134_000

2.1.3.4 Paper Refill

Amount > Max

T3_NPS_2134_001

2.1.3.4 Paper Réfill

Amount = Max

T3_NPS_2134_002

2.1.3.4 Paper Refill

0 < Amount < Max

T3_NPS_2134_003

2.1.3.4 Paper Réfill

Amount < 0

T3_NPS_2135_000 2.1.3.5 Ink Refill Amount > Max
T3_NPS_2135_001 2.1.3.5 Ink Refill Amount = Max
T3_NPS_2135_002 2.1.3.5 Ink Refill 0 < Amount < Max
T3_NPS_2135_003 2.1.3.5 Ink Refill Amount < 0

T3_NPS_2136_000 2.1.3.6 Join ID = NULL, File = userlist.txt
T3_NPS_2136_001 2.1.3.6 Join ID = user, File = userlist.txt
T3_NPS_2136_002 2.1.3.6 Join ID = admin , File = userlist.txt
T3_NPS_2137_000 2.1.3.7 Delete ID = NULL, File = userlist.txt
E 9] 000 Team 14
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T3_NPS_2137_001

2.1.3.7 Delete

ID = admin , File = userlist.txt

T3_NPS_2137_002

2.1.3.7 Delete

ID = user, File = userlist.txt

T3_NPS_22_000

2.2 Print Interface

WT ( ID = user, file = sing.txt,

paper = 10)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_22_001

2.2 Print Interface

WT ( ID = admin, file = sing.txt,
paper = 10 )

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

2.2 Test items

Test Case Identifier

Input Specification

Output Specification

T3_NPS_11_000 ID = user, data = sing.txt, Pass
mode_input = p

T3_NPS_11_001 ID = user, data = 1000 Pass
mode_input = i

T3_NPS_11_002 ID = user, data = 100, Pass

mode_input = a

OO0 Team
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T3_NPS_11_003 ID = user, data = user2, Pass
mode_input = j

T3_NPS_11_004 ID = user, data = user2, Pass
mode_input = d

T3_NPS_11_005 ID = admin, data = sing.txt, Pass
mode_input = p

T3_NPS_11_006 ID = admin, data = 1000, Pass
mode_input = i

T3_NPS_11_007 ID = admin, data = 100, Pass
mode_input = a

T3_NPS_11_008 ID = admin, data = user2, Pass
mode_input = j

T3_NPS_11_009 ID = admin, data = user2, Pass
mode_input = d

T3_NPS_11_010 ID = NULL, data = sing.txt, Fail
mode_input = p

T3_NPS_12_000 ID = user, command = p, Pass
data = sing.txt

T3_NPS_12_001 ID = user, command = s, Pass
data = sing.txt

T3_NPS_12_002 ID = user, command = a, Pass
data = 100

T3_NPS_12_003 ID = user, command = i, data | Pass
= 1000

T3_NPS_12_004 ID = user, command = j, data | Pass

OO0 Team
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= user2

T3_NPS_12_005 ID = user, command = d, Pass
data = user2

T3_NPS_12_006 ID = user, command = h, Pass
data = userlist.txt

T3_NPS_12_007 ID = admin, command = p, Pass
data = sing.txt

T3_NPS_12_008 ID = admin, command = s, Pass
data = sing.txt

T3_NPS_12_009 ID = admin, command = a, Pass
data = 100

T3_NPS_12_010 ID = admin, command = |, Pass
data = 1000

T3_NPS_12_011 ID = admin, command = j, Pass
data = user2

T3_NPS_12 012 ID = admin, command = d, Pass
data = user2

T3_NPS_12_013 ID = admin, command = h, Pass
data = userlist.txt

T3_NPS_12 014 ID = NULL, command = p, Pass
data = sing.txt

T3_NPS_211_000 c_ID = user, command = 1, Pass
data = sing.txt

T3_NPS_211_001 c_ID = user, command = 2, Pass
data = sing.txt

[EAE Q&) 000 Team 17
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T3_NPS_211_002 c_ID = user, command = 3, Fail
data = 1000

T3_NPS_211_003 c_ID = user, command = 4, Fail
data = 100

T3_NPS_211_004 c_ID = user, command = 5, Fail
data = user2

T3_NPS_211_005 c_ID = user, command = 6, Fail
data = user2

T3_NPS_211_006 c_ID = user, command = 7, Fail
data = userlist.txt

T3_NPS_211_007 c_ID = admin, command = 1, | Pass
data = sing.txt

T3_NPS_211_008 c_ID = admin, command = 2, | Pass
data = sing.txt

T3_NPS_211_009 c_ID = admin, command = 3, | Pass
data = 1000

T3_NPS_211_010 c_ID = admin, command = 4, | Pass
data = 100

T3_NPS_211_011 c_ID = admin, command = 5, | Pass
data = user2

T3_NPS_211_012 c_ID = admin, command = 6, | Pass
data = user2

T3_NPS_211_013 c_ID = admin, command = 7, | Pass
data = userlist.txt

T3_NPS 211 _014 c_ID = NULL, command = 1, Fail
data = sing.txt

[EAE Q&) 000 Team 18
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T3_NPS_2121_000 c (c_ID = user, file = sing.txt, | Fail
command = 0)
p (Pl = 1000, PP = 10, VF =
1)

T3_NPS_2121_001 ¢ (c_ID = user, file = sing.txt, Fail
command = 1)
p (Pl = 1000, PP = 10, VF =
0)

T3_NPS_2121_002 ¢ (c_ID = user, file = sing.txt, Pass
command = 1)
p (Pl = 1000, PP = 10, VF =
1)

T3_NPS_2121_003 c (c_ID = admin, file = Fail
sing.txt, command = 1)
p (Pl = 1000, PP = 10, VF =
0)

T3_NPS_2121_004 c (c_ID = admin, file = Pass
sing.txt, command = 1)
p (Pl = 1000, PP = 10, VF =
1)

T3_NPS_2122_000 command = 1 Pass

PT (ID = user, file = sing.txt,
calculated_ink = 300,

calculated_paper = 30,
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verified_file = 1)

WT ( ID = user, file = sing.txt,

paper = 100)
T3_NPS_2122_001 command = 2 Pass
PT (ID = admin, file =
sing.txt, calculated_ink = 300,
calculated_paper = 30,
verified_file = 1)
WT (ID = admin, file =
sing.txt, paper = 100)
T3_NPS_2123_000 command = 1 Pass
PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,
verified_file = 1)
PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num
=0)
T3_NPS_2123_001 command = 1 Pass

PT (ID = admin, file =
sing.txt, calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,

10
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current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

T3_NPS_2124_000

command = 2

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 1,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Pass

T3_NPS_2124_001

command = 2

PT (ID = admin, file =
sing.txt, calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 1,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Pass
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T3_NPS_2126_000

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Pass

T3_NPS_2126_001

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 1,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=5)

Pass

T3_NPS_2126_002

Command =1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,
verified_file = 0)

PS ( print_current_state = 2,

current_ink = 3000,

Fail
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current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=5)

T3_NPS_2126_003

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 0

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Fail

T3_NPS_2126_004

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 200,
current_paper = 100,
temp_ink = 200, temp_paper

= 100, wait_num = 0)

Fail

T3_NPS_2126_005

Command =1

PT (ID = user, file = sing.txt,
calculated_ink = 300,

calculated_paper = 30,

Fail

10
>
[m
e
1y

OO0 Team

23



Ver. Identifier

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 10, temp_ink
= 3000, temp_paper = 10,

wait_ num = 0)

T3_NPS_2126_006

Command = 2

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 2,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Pass

T3_NPS_2126_007

command = 3

RT (100)

PS ( print_current_state = 1,
current_ink = 3000,
current_paper = 0, temp_ink
= 3000, temp_paper = 0,

wait_num =0)

Pass

T3_NPS_2126_008

command = 3

RT (100)

PS ( print_current_state = 0,
current_ink = 3000,

current_paper = 100,

Pass

10
>
[m
e
1y

OO0 Team

24



Ver. Identifier

temp_ink = 3000,
temp_paper = 100, wait_num

=0)

T3_NPS_2126_009

command = 4

RT (/3000 )

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Fail

T3_NPS_2126_010

command = 5

UT (ID = admin, El =0 )

PS ( print_current_state = 1,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

Pass

T3_NPS_2126_011

command = 5

UT (ID = admin, El = 1)

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Pass

T3_NPS_2126_012

command = 6

Pass
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Ver. Identifier

UT (ID = admin2, El = 0)

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

T3_NPS_2131_000 ¢ (c_ID = user, file = sing.txt, | Pass
ID = NULL, command = 3,
r_ink = 100, r_paper = 1000)
T3_NPS_2131_001 c (c_ID = user, file = sing.txt, | Pass
ID = NULL, command = 4,
r_ink = 100, r_paper = 1000)
T3_NPS_2131_002 c (c_ID = admin, file = Pass
sing.txt, ID = NULL,
command = 3, r_ink = 100,
r_paper = 1000)
T3_NPS_2131_003 c (c_ID = admin, file = Pass
sing.txt, ID = NULL,
command = 4, r_ink = 100,
r_paper = 1000)
T3_NPS_2132_000 Command = 3, amount = Pass
100
T3_NPS_2132_001 Command = 3, amount = Fail
101
T3_NPS_2132_002 Command = 4, amount = pass

EESSRCE)

OO0 Team
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Ver. Identifier

1000
T3_NPS_2132_003 Command = 4, amount = Fail
1001
T3_NPS_2134_000 Amount > Max Fail
T3_NPS_2134_001 Amount = Max Fail
T3_NPS_2134_002 0 < Amount < Max Pass
T3_NPS_2134_003 Amount < 0 Fail
T3_NPS_2135_000 Amount > Max Fail
T3_NPS_2135_001 Amount = Max Fail
T3_NPS_2135_002 0 < Amount < Max Pass
T3_NPS_2135_003 Amount < 0 fail
T3_NPS_2136_000 ID = NULL, File = userlist.txt | Fail
T3_NPS_2136_001 ID = user, File = userlist.txt Pass
T3_NPS_2136_002 ID = admin , File = Pass
userlist.txt
T3_NPS_2137_000 ID = NULL , File = userlist.txt | Fail
T3_NPS_2137_001 ID = admin , File = Pass
userlist.txt
T3_NPS_2137_002 ID = user, File = userlist.txt Pass

OO0 Team
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Ver. Identifier

T3_NPS_22_000

WT ( ID = user, file = sing.txt,

paper = 10)

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Pass

T3_NPS_22_001

WT ( ID = admin, file =

sing.txt, paper = 10 )

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Pass

2.3 Input specifications

Test case specification identifier &2

2.4 Output specifications

Test ltems & =X

3 Environmental needs

NPSQ| unit testE St 24 A

(1) IDE: 9 io

0

)

[E-II AE
o=

ygwin (64bit)
Ed]

=

ro

2TAIE2 o33 2o
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Unit test summary report

4.1 Test summary report identifier

Ver. Identifier

T3_NPS_11_000 Pass
T3_NPS_11_001 Pass
T3_NPS_11_002 Pass
T3_NPS_11_003 Pass
T3_NPS_11_004 Pass
T3_NPS_11_005 Pass
T3_NPS_11_006 Pass
T3_NPS_11_007 Pass
T3_NPS_11_008 Pass
T3_NPS_11_009 Pass
T3_NPS_11_010 Fail

T3_NPS_12_000 Pass
T3_NPS_12_001 Pass
T3_NPS_12_002 Pass
T3_NPS_12_003 Pass
T3_NPS_12_004 Pass
T3_NPS_12_005 Pass
T3_NPS_12_006 Pass
T3_NPS_12_007 Pass
T3_NPS_12_008 Pass
T3_NPS_12_009 Pass
T3_NPS_12_010 Pass
T3_NPS_12_011 Pass
T3_NPS_12_012 Pass
T3_NPS_12_013 Pass
T3_NPS_12_014 Pass
T3_NPS_211_000 Pass
T3_NPS_211_001 Pass
T3_NPS_211_002 Fail

T3_NPS_211_003 Fail
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T3_NPS_211_004 Fail

T3_NPS_211_005 Fail

T3_NPS_211_006 Fail

T3_NPS_211_007 Pass
T3_NPS_211_008 Pass
T3_NPS_211_009 Pass
T3_NPS_211_010 Pass
T3_NPS_211_011 Pass
T3_NPS_211_012 Pass
T3_NPS_211_013 Pass
T3_NPS_211_014 Fail

T3_NPS_2121_000 Fail

T3_NPS_2121_001 Fail

T3_NPS_2121_002 Pass
T3_NPS_2121_003 Fail

T3_NPS_2121_004 Pass
T3_NPS_2122_000 Pass
T3_NPS_2122_001 Pass
T3_NPS_2123_000 Pass
T3_NPS_2123_001 Pass
T3_NPS_2124_000 Pass
T3_NPS_2124_001 Pass
T3_NPS_2126_000 Pass
T3_NPS_2126_001 Pass
T3_NPS_2126_002 Pass
T3_NPS_2126_003 Pass
T3_NPS_2126_004 Pass
T3_NPS_2126_005 Pass
T3_NPS_2126_006 Pass
T3_NPS_2126_007 Pass
T3_NPS_2126_008 Pass
T3_NPS_2126_009 Fail

T3_NPS_2126_010 Pass
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Ver. Identifier

T3_NPS_2126_011 Pass
T3_NPS_2126_012 Pass
T3_NPS_2131_000 Pass
T3_NPS_2131_001 Pass
T3_NPS_2131_002 Pass
T3_NPS_2131_003 Pass
T3_NPS_2132_000 Pass
T3_NPS_2132_001 Fail
T3_NPS_2132_002 Pass
T3_NPS _2132_003 Fail
T3_NPS_2134_000 Fail
T3_NPS_2134_001 Fail
T3_NPS_2134_002 Pass
T3_NPS 2134 003 Fail
T3_NPS_2135_000 Fail
T3_NPS 2135 001 Fail
T3_NPS_2135_002 Pass
T3_NPS_2135_003 Fail
T3_NPS_2136_000 Fail
T3_NPS_2136_001 Fail
T3_NPS_2136_002 Fail
T3_NPS_2137_000 Fail
T3_NPS_2137_001 Pass
T3_NPS_2137_002 Pass
T3_NPS_22_000 Pass
T3_NPS_22 001 Pass
4.2  Evaluation
Total Test Case : 8771
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